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H L= K4 A F i R
1 2 2l Hi INFL1E T 47.27
1 3Nt BT INFTEE 7% 46.03
1 4 KI v INFTEE 7% 49.51
1 5 ERE KZ INFTEE 7% 58.12
2 2 B B INFIE 9% 42.26
2 3B SiE INFQEE 87 37.38
2 4 TR BBH INFREE 87 39.26
2 5 BRI T INFAEE 107% 38.82
3 2 Bl AHE INFBE 115 37.20
3 3hA pua INF3E 9% 37.73
3 4B FAF INFAEE 107% 37.41
3 5 ER BE INFAEE 107% 37.71
4 2 Hih FTE INF3E 9% 37.37
4 3B HIEF INFBE 115 34.97
4 4 AE EE INFAEE 107% 34.71
4 b FihE % INFBE 115 37.40
5 2 M TR INFBE 12/% 32.57
5 3 KHE IR INFAEE 107% 32.12
5 4 K AEHE INFBE 115 32.32
5 5 piEH EfE INFAEE 107% 33.05
6 2 Bf% XL REp1E 12/% 31.07
6 3HEFY A INFAEE 107% 31.35
6 4 AK IBEFTE INFBE 12/% 30.85
6 b RE B INFOE 125% 31.59
7 2 &3 XA R4 147% 29.47
7 3EH A INFBE 115 28.93
7 4 Fke ZERK R4 147% 29.04
7 5 8K TE3Y INFBE 115 30.50
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HOL— K% FE FE W 0K
1 2 KH f&E8 N1 T 1:07.26
1 3@ At INFTE 7% 50.73
1 4 D —I N1 T 1:01.85
2 2 /A0 FNER INFIE 87K 47.34
2 35H F=t INF3E 9 40.73
2 4 5l BE FE 5% 48.83
3 2 BBy AE INF3E 9 37.80
3 3D BH INF3E 9 34.93
3 A FE EE INF3E 9% 36.26
3 b Hitt EFHY INF3E 9 40.09
4 2 9 BE INFLE 107% 34.12
4 3 &M X INFLE 107% 33.07
4 4 EFZx AIEB INFALE 10%% 33.28
4 b Bk ES INFASE 107% 36.94
5 2 R e INFBE 115K 33.29
5 3 /N ER R ER INFBE 115K 31.97
5 4 58 JEth INFBE 115 33.06
5 57O FK INFBE 115 34.23
6 2 FRI&A INFBE 125K 32.61
6 325 & INFBE 125K 33.26
6 4 7 B INFBE 115 31.72
6 b EH Bz INFBE 125K 32.71
7 2 1B Rk INFBE 125K 31.72
7 3¥HE & INFBE 125K 29.69
7 4 B8 XK INFBE 125% 30.82
7 b= R INFBE 125% 31.71
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1 2 MM SRR RE2E 147% 1:10.59
1 4 MALHE—ER RS2 147% 1:13.36
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1 2 KH X3k INFTEE 7% 1:01.53
1 3B BR INFTEE 7% 57.02
1 4 R INFTEE 7% 1:01.99
2 2 HE EAR INFREE 87 59.80
2 3HEF K INFIE 9% 53.84
2 4 PRt HHB INFQEE 87 54.83
3 2 Bl tE INFBE 115 48.93
3 3HKR BBF INFQEE 87 47.99
3 4B S7iE INFQEE 87 48.81
3 5 ER BxE INFAEE 107% 49.53
4 2 i@ L INF3E 9% 48.95

3AHE BK INFAEE 107% 43.70
4 4 =B HIEF] INFBE 115 48.25
5 2 FlkEE % INFBE 115 45.84
5 3EIH Ef INFAEE 107% 40.97
5 4 IR AEHE INFBE 115 42.26
5 5 HEXAF INFAEE 107% 48.66
6 2 R #& INFBE 115 39.51
6 3 AN INFOE 125% 38.54
6 4 RE G5 INFBE 12/% 40.26
6 b BEER  BR INFBE 115 40.70
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H L= K4 A Fin R
1 2 nH M=t INFIE 9% 52.39
1 3R K- INFHEE 115 50.14
1 4R EZ INF3EE 97 50.04
2 2 BB E INFAEE 107% 46.14
2 3FE E% INFIE 9% 45.65
2 4 Fib W INFBE 115 45.43
3 2 /A X INFBE 115 44.33
3 3 /NibIR K ER INFBE 115 42.22
3 4%=H & INFAEE 107% 44.35
3 5 Bix XIB INFAEE 107% 44 54
4 2=H R INFBE 125% 39.41
4 3EA AR INFBE 115 42.01
4 4 FEI&A INFBE 125% 41.07
4 5 ¥MH &5 INFBE 125% 36.89
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B L= K4 FE Fir SO
1 3EM A INFBEE 115% 31.37 1:11.12 1:56.02 2:30.31
1 4 Hrh 7 INF A 107 34.07 1:14.94 2:01.48 2.39.86
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1 3 #K HEF REF3E 157% 2:12.13

1 4 EIR KRS 24 147% 2:38.24
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H oL—> K% FE Fhp SCER
1 2 By EMR F 5% 2:22.79
1 3ER —I INFTEE 7% 2:22.08
1 4 $5R ISR FR 67 2:21.37
2 2 HE EAR INFREE 87 2:04.01
2 3RAE BE Frh Y55 2:01.48
2 4 h0EE BER INFTEE 7% 1:59.86
2 5 ERE K= INFTEE 7% 2:16.57
7045 LN0.9 50m&EXRE [&F]
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1 2 RN F# INFLE 103% 47.62
1 3 He K INF3EE 9% 49.07
1 4Nt BBTH INF1E 7% 51.89
2 2 Far B INFREE 87 50.10
2 3B SiE INFEE 87 44.12
2 4 FHikh TE INF3EE 9% 43.50

2 bR Bx INFAEE 10%% 44.32

3EDLHEE INFABEE 115 41.11

4 (LOp LA INFBE 9% 42.07
4 2 KH dER INFAE 10%% 38.06
4 3 &M TR INFBEE 125% 37.12
4 4 BE 5% INFABEE 1158 39.03
4 b HEXA T INFAE 10%% 41.09
5 2 5K T3 INFABEE 1158 36.44
5 3EHF B INFAEE 107% 35.37
5 4 BEER B INFBE 115 36.66
5 5 Bf% R RE1E 125% 36.99
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B L= K% E:d F i R
1 2 0O At INFTEE 7% 53.37
1 3% B INF3EE 9% 47.48
1 4 KR - INFHEE 115% 45.00
1 5 KH &8 INFTEE 7% 1:12.86
2 2 B¢y EBH INF 3 9% 41.97
2 3FE E% INF 35 9% 41.63
2 4 8k BE INFAEE 107% 40.67
2 5 E#h WY INFHEE 115% 43.48
3 2 E8 e INFBEE 115% 37.51
3 3 Bk KIB INFAEE 107% 38.83
3 4=H R INF B 127% 36.46
3 5 %HF 3} INFBEE 115% 40.86
4 2 &9 B INF6F 127% 36.23
4 3 2% B INF B 127% 35.47
4 4 *M & INF B 127% 34.16
4 5 5% At INFBE 115% 37.70
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B L= K% FE F i S8R
1 3 MR ER RE2E 145% 1:04.44
1 4 &, Eth e 147% 1:05.79

704 7L4N0.12 100mBEHFE [BF]

B L= K% FE D OBk
1 288 XK INF B 125% 1:05.93
1 3 FiR R e 14%% 1:07.31
1 4 HARHE—BA R4 147% 1:05.63
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H O L— K4 A F i SCER
1 2 8K IRERP FR 67 1:17.91
1 3 KH Xk INFTEE T 56.40
1 4 B ERX T Y55 1:13.77
2 2 ZlLd H7i INFTEE T 55.19
2 3R B INFREE 87 44.43
2 4 TR BBF INFQEE 87 39.38
3 2 B5H BR INFAEE 107% 38.71
3 3EBE % INFHEE 115 37.44
3 4 (LiOp LA INF3E 97 39.80
3 b FEX & INFBEE 115 43.25
4 2 KH R INFAEE 107% 36.00
4 38k B3 INFBEE 115 34.87
4 4 FRIEHE INFBHEE 115% 35.59
4 5 giH EfE INFAEE 107% 37.01
5 2 R #& INFBEE 115 32.46
5 3&W EHR e apies 147% 31.82
5 428 A INFBEE 115 31.41
5 b B K& hE1E 12 34.07
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1 2 780 FOEB INF3EE 87 56.05
1 3R EE INF3EE )55 42.66
1 4 FH 3t INF3EE )55 48.60
1 5[ Al INFLEE 7% 57.24
2 2 $h K B/E INFAEE 107% 38.02
2 3B BA INF 3 97 37.65
2 4 kB = INFAEE 107% 40.28
2 5%H #F3t INFHEE 115 38.39
3 2 Bfx KB INFAEE 107% 34.31
3 3EH B INFBE 127% 32.95
3 488 FEX INF B 125% 32.41
3 5 EH &EZE INFBE 125% 36.83




